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Guidance notes for sample paper mark schemes
Level 1 and Level 2

Notes:

The mark scheme has been carefully constructed to avoid penalising candidates repeatedly for
similar errors:

1) Principle of follow through applies throughout unless otherwise stated. This allows the candidates to
gain credit for subsequent correct calculation based on a previous incorrect answer.

2) Units or numbers shown in brackets on the mark scheme are not required for the awarding of
mark/s on the candidate’s paper. However, if a candidate states units they must be correct:

eg 24(cm) means accept 24cm or 24 but not 24m
eg (£)72.5(0) means accept £72.50 or £72.5 or 72.50 or 72.5

3) URT means unrounded, rounded or truncated; the underlining defines the acceptable limit of
approximation:

eg 860. 8652 URT (U is the unrounded version)
the following are acceptable: 860 (T) or 861 (R) 860.8 (T) or 860.9 (R) or 860.86 (T) or 860.87 (R) or
860.865 (R) or 860.8652 (U) but not eg 900.

Total marks available: 50
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NB incorrect money format given as an answer should only be penalised once on the whole paper and
will lose 1 mark. Do not penalise values seen as working any subsequent incorrect format.

Task 1

Question

Total
marks

Marks

Marks awarded for

1A

4

1

suitable scale eg 1:100 (if scale not labelled allow mark if pitch outline is
drawn to recognisable scale)
do not accept 1:200 or anything smaller scale for this mark

scale label eg numeric 1:100

accept written as 1cm = 1m OR graphic € = 1m
do not accept lengths labelled on the diagram as a substitute for a scale
label

N

outline of pitch drawn to scale +'2 small square

two sides of pitch correct +%2 small square
or all sides correct on a reversed outline

1B

3 tents drawn to scale +2 small square

any 2 tents drawn to scale +% small square

any 1 tent drawn to scale +% small square

tents at least 1 metre from the front and side AND 2 metres from each
other
ignore distance from top diagonal line

3 tents labelled with correct occupants, accept initials

1C

W | =

tent B identified as most space per person AND supporting calculation
eg 4(m?) from 4m x 2m + 2 (people)

suitable calculations comparing at least two areas per person
eg 3.38(m? for tent A and/or 4(m?) for B and/or 3.54666667 URT (m?) for C
or 3 tent areas: 6.76(m? and 8(m? and 10.64(m?

ONne area per person or tent area correct

1D

(£)140

complete correct method with one calculation error

correct substitution into the formula eg C= 4(7x3 + 2x7)

1E

their value for 35% deposit eg (£)49 AND their value for 65% eg (£)91

deposit or balance for their total cost

=INW=INW —

method for 35% or 65%
eg x35 + 100 or x 0.35 or x 65 + 100 or x 0.65 seen

1F

a distance between 3.8(km) (from 15.5cm) AND 4.4(km) (from 17.5cm)

WiH

a method for the conversion of a measured distance in cm to km
eg x 25000 + 10 000 or + 2 x 500m +1000
or a distance between 3800(m) and 4400(m)

a method for the conversion of a measured distance in cm tom
eg + 2 x500m

N

a total map measurement between 15.5(cm) and 17.5(cm)

1G

time in minutes consistent with their 1F, accept rounding to nearest min
eg 47% (minutes) for 3.8(km)

eg 50 (minutes) for 4(km)
eg 55 (minutes) for 4.4(km)

12% minutes per km or x 12.5 seen
or conversion of minutes per mile to minutes per km 20 + 8 x 5 seen

1.6km in 20 minutes
or conversion of km to miles + 8 x5

Total for Task 1 25 marks
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Example scale diagram 1A and 1B
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Task 2

Total

Question Marks | Marks awarded for
marks
2A 4 4 3 correct averages corresponding to their choice
Design of bottle Fragrance AETICE
clean
Mean 4.5 7 8
Median 4 6.5 8.5
Mode 6 6 9
3 one correct average corresponding to their choice
or 3 consistent correct averages if no choice or incorrect choice indicated
if more than one type of average is attempted and there are some incorrect values
allow 3 marks if one set of values is clear and correct
eg all medians correct
2 complete correct method and value for one average if no choice or incorrect choice
indicated
eg 54 + 12 = 4.5 for median incorrectly stated
1 method for one average mean, median or mode
mean: +12 or 54 or 84 or 96 seen
median: attempt to order data to find middle or (n+1) / 2" place seen
eg3,3,3,3,4,4,4,6,6,6,6, 6,6 (design)
mode: attempt to tally seen
eg4x3,3x4,5x6 (design)
2B 1 1 suitable explanation
eg mean: includes all the test data
eg median: because there is an outlier in fragrance (others median to
enable one average to be used)
eg mode: because it is the rating chosen by the most people
DO NOT ACCEPT chosen by most people
2C 4 1 bar chart with 3 bars showing averages only
no 1 suitable vertical axis label AND bar labels/ key
marks . I ; ;
for line note: allow references to average score in title as alternative to vertical
graph, axis label
pie 1 continuous linear scale on vertical axis starting at (implied) zero and
chart, sufficient for their values
ta%ﬁe 1 all bar heights correct +%2 small square
2D 2 2 two valid comment comparing the three categories
eg The volunteers liked how their hands felt clean best.
eg The design of the bottle was the thing people liked least.
1 one valid comment comparing the three categories
2E 3 3 all three values for range correct
Range
Design of bottle 3
Fragrance 8
Hands clean 4
2 one range correct
1 max and min seen for one range
ie6and3 or 10and 2 or 10 and 6
2F 1 1 a complete correct check of any original calculation seen in 2E using a
f(’)‘:’r':;;';t different method
calc eg areverse calculation OR a calculation using approximate values
2G 1 1 valid comment about their ranges with reference to variation/consistency

(of data) eg ‘The opinions about the fragrance varied most.’
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2H

straight trend line drawn ‘through’ plots for paper vouchers

straight trend line drawn ‘through’ plots for online vouchers

lines extended AND values read for paper vouchers and for online vouchers
+100 vouchers
eg 1000 for paper vouchers and 4000 for online vouchers

value from their line for paper vouchers or for online vouchers +100 vouchers
or both values read correctly but stated in incorrect order

2]

suitable explanation consistent with their decision and reference to (use of)
paper vouchers

eg no AND (use of) paper vouchers decreasing

eg yes AND 1000 vouchers expected to be used

2)

75% or 0.75 or % for no prize

1st pair of branches showing 25% or 0.25 or ' win prize AND 75% or 0.75 or
% no prize

2nd pair of branches showing 10% or 0.1(0) or 1/10 win cinema tickets AND
90% or 0.9(0) or 9/10 win other prizes
Ignore branches on No prize

correct probability from their tree diagram
eg 1/40 from calculation (of 1/4 x 1/10) for the probability OR 0.025 OR 2.5%

Total for Task 2 25 marks

Example chart for 2D

Mean

Score out of 10

1. Meawn scores for hand wash survey

FEAGRMIE

_11 41

QRuestlon
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Example trend lines for 2H

Number of vouchers used in the last eight promotions
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Example probability trees for 2J
i Cinema tickets
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4
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- Other prize
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4
Or Cinema tickets
0.1
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0.25
0.9 Other prize
0.75 No prize
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Content and Range Standard Level 2

Coverage and Range (Technical skills)

a) Understand and use positive and negative numbers of any size in practical contexts

b) Carry out calculations with numbers of any size in practical contexts, to a given number
of decimal places

¢) Understand, use and calculate ratio and proportion, including problems involving scale

d) Understand and use equivalences between fractions, decimals and percentages

e) Understand and use simple formulae and equations involving one- or two-step
operations

f) Recognise and use 2D representations of 3D objects

g) Find area, perimeter and volume of common shapes

h) Use, convert and calculate using metric and, where appropriate, imperial measures

i) Collect and represent discrete and continuous data, using ICT where appropriate

j) Use and interpret statistical measures, tables and diagrams, for discrete and continuous
data, using ICT where appropriate

k) Use statistical methods to investigate situations

I) Use probability to assess the likelihood of an outcome

The table on the next page shows how each of the Coverage and Range (Technical Skills) standards are assessed
within this paper.
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Task 1 Task 2
Coverage and range

(Technical skills)

[elol

1A (1B |1C |1D |1E | 1F | 1G |2A |2B|2C 2D |2E | 2F |2G|2H | 2] | 2]

a) Understand and use positive
and negative numbersofany | v | v | vV | ¥
size in practical contexts

b) Carry out calculations with
numbers of any size in viviviy
practical contexts, to a given
number of decimal places

NI IR
SRNIERN

¢) Understand, use and calculate
ratio and proportion, including
problems involving scale

-«
NS

d) Understand and use
equivalences between
fractions, decimals and
percentages

=N~y X

NS S

e) Understand and use simple
formulae and equations
involving one- or two-step
operations

w

f) Recognise and use 2D Vv v
representations of 3D objects 2

w
-y
(o3}

-

Find area, perimeter and
volume of common shapes

g

N S

h

=

Use, convert and calculate
using metric and, where viv iy v v 4
appropriate, imperial
measures

-—
—
)
—

i) Collect and represent discrete v
and continuous data, using v 4
ICT where appropriate

D

j) Use and interpret statistical
measures, tables and
diagrams, for discrete and v v v | v v VI v |vY 9
continuous data, using ICT 1 2
where appropriate

k) Use statistical methods to

investigate situations

LN
w

1) Use probability to assess the
likelihood of an outcome

Totals 4 1513|334 314|142 3 |1|1]4)|1

RSN

*The marks in the final column give an indication of the degree of emphasis placed on different content strands. Note,
however, that no marks are assigned to the first strand (a — whole & negative). This is because engagement with whole
numbers characterises almost every question in the assessment. Negative numbers are not directly assessed in this paper
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Mark distribution per Skill Standard

Available
marks

Represent

Calculate

Interpret

Open

Fixed

1A

1

2

1B

1C

1D

1E

1F

1G
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